
Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

ASTM Stock List

Part No : F593

Part No : 5/8" x 1.750

Part No : A216 GR.WCB

Part No : A182 Gr.F347H

Part No : ASTM-D-178

Part No : A350

Part No : D 1706

Part No : A638-GR-660

Part No : A105

Part No : A53

Part No : 12C

Part No : 99C

Part No : 99F

Part No : A790 UNS S31803 XXS

Part No : A182 F51

Part No : A403-WP316L

Part No : SS - 1RS8 - AISI 316

Part No : 1/2" - SS-1RS8 - AISI 316 / PFA

Part No : D-5984-96

Part No : ASTM A403-WP316L

Part No : Flange 150 - RF - 14" S40S WN

Part No : A182-F316L

Part No : ASTM A182-F316L

Part No : Flange 150 - RF - 3'' S40S WN

Part No : Flange 150 - RF - 4" S40S WN

Part No : Flange 150 - RF - 6" S40S WN



Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Part No : Flange 150 - RF - 8" S10S WN

Part No : A194-8M

Part No : Hexagon nut 1 - UNC

Part No : Hexagon nut 1/2 - UNC

Part No : Hexagon nut 3/4 - UNC

Part No : Hexagon nut 5/8 - UNC

Part No : Male adapter 1/2 - SS - 1RS8

Part No : Pipe 1" S80S - S

Part No : Pipe 3'' S40S - S

Part No : Pipe 6" S40S - S

Part No : Pipe 8" S10S - S

Part No : Pipe elbow 90LR 1" S80S

Part No : Pipe Elbow 90LR 3'' S40S

Part No : Pipe elbow 90LR 6" S40S

Part No : Pipe elbow 90LR 8" S10S

Part No : Pipe elbow 90SR 8" S40S

Part No : Reducer E 14 "x8" W10S 2 parts

Part No : Reducer E 6"x4" W10S

Part No : Reducer E 6"x4" W10S

Part No : Spiral wound gasket C/l 1" - 150

Part No : Spiral wound gasket C/l 14" - 150

Part No : Spiral wound gasket C/l 3" - 150

Part No : Spiral wound gasket C/l 4" - 150

Part No : Spiral wound gasket C/l 6" - 150

Part No : Spiral wound gasket C/l 8" - 150

Part No : Stud bolt 1 - UNC x 5 1/4

Part No : Stud bolt 1/2 - UNC x 2 3/4

Part No : Stud bolt 3/4 - UNC x 4

Part No : Stud bolt 3/4 - UNC x 4 1/4

Part No : Stud bolt 5/8 - UNC x 3 3/4

Part No : Valve 1/2" - SS-1RS8

Part No : A36

Part No : C007090271

Part No : C007090272

Part No : C007090273



Get quote now ! info@adamsint.net

ADAMS INTERNATIONAL TRADING 1275 Bloomfield Ave Unit 81 Fairfield 07004, New Jersey, the
United States Phone : +1 (973) 228-4293 Mobile : +1 (201) 878-2619 Fax: +1 (973) 858-0288 E-Mail:
info@adamsint.net Web: http://www.adamsllc.net/

Part No : C007090274

Part No : C007090275

Part No : C007090276

Part No : C007090277

Part No : C007090278

Part No : C007290606

Part No : SS-6M0-2-2PR

Part No : 30036789

Part No : A350-LF2 CL1


